MODEL ACTIVITY TASKS
CLASS -V
MATHEMATICS

1. Choose the correct answer and write it :
In 420 minutes there are
(a) 7 hours (b) 8 hours (c) 6 hours (d) 4 hours
2. Fill in the blanks :

The L.C.M. of two coprimes is

3. Answer the following questions:
(a) Arrange in columns and add :
56852 + 20208 + 406 + 50

(b) The HCF of two numbers is 5, their LCM is 60 and one of the numbers is 15. Find the other
number.

4. 75 liters of kerosene oil and 25 liters of petrol have to be kept in tins of identical size such that two
kinds of oil do not get mixed. How many tins will be required at least? How much oil will each tin
hold?

Students will write answers to these activity tasks in subject specific exercise books at
home, and submit the exercise books to respective subject teachers after schools reopen.
Under no circumstance, students will go out of home.



